


 What are the key characteristics of quadratic functions and 
their graphs? 

 How are they key characteristics of quadratic functions 
similar and different to the key characteristics of linear 
functions? 

 How do changes in the parameters of a quadratic function 
effect the shape and position of its graph? 

 How can the graph of a function be used to determine the 
domain and range of the function? 

 How do you identify a situation where a quadratic model 
would be most appropriate? 

 What makes a complex number complex? 

 How do you represent the square root of a negative 
number? 

 How do you perform operations with complex numbers? 



 SWBAT: 

 Describe the changes to the graph of a quadratic 

equation based on the parameters of the 

function. 

 Determine the vertex of a quadratic equation in 

any form. 



 Simplifying radicals with imaginary numbers 

 Partner Practice 

 Break 

 Converting between forms 

 Partner Practice 



 𝐴𝑛𝑦 𝑛𝑒𝑔𝑎𝑡𝑖𝑣𝑒 𝑣𝑎𝑙𝑢𝑒  𝑢𝑛𝑑𝑒𝑟 𝑡ℎ𝑒 𝑟𝑎𝑑𝑖𝑐𝑎 

 𝑖 = −1 

 

Example: 

 Simplify −72 

 −1 36 2 

 6𝑖 2 



1. −48 

2. −50 

3. 3 −63 

4. 2 −98 

5. 3 + 2𝑖 − 3𝑖 + 2 

6. 2𝑖 − 3 − 2 + 3𝑖  

 



With the person you are sitting next to, 

complete the worksheet 



 Standard Form: 

 𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 

 Vertex: 

 −
𝑏

2𝑎
, 𝑓 −

𝑏

2𝑎
  

 Vertex Form: 

 𝑓 𝑥 = 𝑎 𝑥 − ℎ 2 + 𝑘 

 Vertex: 

 −ℎ, 𝑘  

 Intercept Form: 

 𝑓 𝑥 = 𝑥 + 𝑎 𝑥 + 𝑏  

 X-intercepts: 

 −𝑎, 0  𝑎𝑛𝑑 −𝑏, 0  



From Standard to Vertex Form: 

 Step 1: Calculate the AOS 

 Step 2: Calculate the vertex 

 Step 3: Write in Vertex Form (use the value 

of “a” in both) 

 

Example: 

𝑓 𝑥 = 2𝑥2 − 4𝑥 + 5 



From Standard to Intercept Form: 

 Step 1: Factor  

 if you can’t, use the quadratic formula to find 

the zeroes 

 

Example: 

𝑓 𝑥 = 2𝑥2 − 4𝑥 + 2 

 



From Vertex to Standard Form: 

 Step 1: Expand 

 Step 2: Simplify 

 

Example:  

𝑓 𝑥 = 2 𝑥 − 3 2 + 5 

 



From Intercept to Standard Form: 

 Step 1: Expand 

 Step 2: Simplify 

 

Example: 

𝑓 𝑥 = 3 𝑥 − 3 𝑥 + 2  

 



With the person you are sitting next to, 

complete the worksheet 




